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3. not hard(easy) to understand
4. silkscreen, 250, auction, 17.3 million, 10,000 times,

understand
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The Prince of Pop Art
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4. Pop, Art, Pittsburgh, illustrator, daily, silkscreen
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Reading Closer

A Across @ original @ object ® commercial @ achieve

Down @ appear ® product ® Remove @ explain
celebrity @ elevate

B 1.recognize 2. achieve 3. expensive
4. commercial 5. elevate

C @ hard — easy
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B 1. Why is his art so expensive?
2. Onereasonis that his work is not hard to understand.
3. The original price of the work was not expensive.
4. It was sold to Leo Castelli for $250.
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B 1. He soon became a successful illustrator.

2. The idea of painting daily objects came from one of

his friends.

3. He showed a talent for drawing and painting at an

early age.

4. He achieved this position through hard work.
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Reading Closer

Across @ memory @ enhance @ Connect

@ complex

Down ® process ® brain @ survive ® repeat

@ network @ forget

1. instance 2. enhance 3. complex 4. duration

5. connect

memory, information, forget, remember, long-term
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B 1. Thereis abig difference between a person’s memory
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and an animal’s.
2. You may even remember what you were wearing.
3. Dogs may forget an event two minutes after it

happens!

4. Animals remember things which help them survive.
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B 1. Sensory memory is an exact copy of what we see
or hear.
2. The duration of short-term memory is usually a few
seconds.
3. Long-term memory is like a huge network of data.
4. This stores all the things we have remembered.
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Machu Picchu
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4. economy, cultures, important, environment
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Reading Closer

A Across @ economy @ ancient ® remain @ culture

® weigh

Down @ endanger ® damage @ serious ® tourist
@ trash

B 1. tourist 2. endanger 3. ruins 4. mystery

5. ancient

C tourists, historic, mysterious, stones, built
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B 1. Peru should try harder to bring more tourists here.
2. They will spend money here and make the local
economy strong.
3. Too many tourists may not be good for the old ruins.
4. Some tourists harm the environment.
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. Machu Picchu is an ancient city in the Andes

Mountains.

. Itis one of the most beautiful and mysterious places

in the world.

. There are hundreds of stone structures in the city.

. People from all over the world come to see Machu
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Near the Volcano
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1 harmony 2 volcano
| Reading 01

1.b 2.d 3.d

4. active, ash, rich, money
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4. mantle, Magma, crust, lava
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Reading Closer

Across @ harmony @ volcano @ alive @ planet

® standstill

Down ® erupt @ various ® crater @ melt © solid
1. erupt 2. core 3. soil 4. solid 5. standstill

volcano, cause, ash, farmers, firsthand
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1. Today, thousands of people still live there and farm
the land.

2. Volcanic ash makes the soil rich and good for farming.

3. The villages near the crater face danger every day.

4. Perhaps they know how to live in harmony with
Mount Etna.
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16. &
B 1. The core is at the center of the Earth and consists
of solid rock.
2. The mantle is between the core and the outer crust.
3. It forms hot liquid rock called magma.
4. A volcano can be powerful and dangerous because
of the hot gas, ash, and lava.
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Coffee, Please!
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4. Seattle, Starbucks, comfortable, largest
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Reading Closer

A Across @ trade @ force @ consumer @ product

® solution ® cost

Down ® create @ fair ® education @ profit

B 1. profit 2. atmosphere 3. trade

4. consumer 5. responsibility
C vision, growers, fair, cover, movement
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Reading 01 18-19%
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4.8, 8% 5. XtXSIC} 6. motst
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13. 742 14. =gl 15. X
16. At

B 1. The ltalian coffee bars were wonderful places for
meeting people.
2. He created a comfortable atmosphere in all his shops.
3. Starbucks became popular quickly both at home
and abroad.
4. Starbucks now tries to take responsibility for its role
in society.
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. Coffee is one of the most traded agricultural products

in the world.

. The fair trade movement is a possible solution to

this problem.

. The fair trade movement has become a consumer

trend.

. More and more people care about the conditions of

coffee growers.
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Living in Space
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1.b 2.a 3.(MF@T QT

4. trash, supplies, experiments, weightless
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| Reading 02

1.d 2.c 3.c

4. water, rinse, toothpaste, recycled, sweat
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Reading Closer

A Across @ moisture @ rinse @ float @ precious

® benefit ® purpose

Down @ satellite ® swallow © sweat © price

B 1.investigate 2. supplies 3. float 4. rinse

5. maintenance

C @ carry out — carrying out
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A3 ¢/ WORKBOOK
Reading 01 22-23%
A 194 2. JHELSICH 3. 2x
4. 2fsH0| 5. @ HIAAL 6. =xtst
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B 1. The astronauts work for twelve hours a day.

2. Sometimes the astronauts have to work outside the

spacecraft to do repairs.

3. Going outside into space can be dangerous.

4. The research findings may improve our knowledge

of the natural world.
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Staying clean in space is not easy.

2. There is very little water and every drop is precious.
3.
4

. Astronauts may drink each other's sweat!

Brushing their teeth in space is also a headache.
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Need a Shot?
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| Reading 01

1.b 2.c 3.()T (@QF T

4. vaccine, weak, rabies, mad, survived, heated
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4. injection, immune, Antibodies, strong, vaccines
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Reading Closer

Across @ matter @ survive @ bite @ terrible

Down @ moment ® career ® inject @ prevent
disease ©@ Heat

1. stimulate 2. bite 3. experiment 4. inject 5. deadly

vaccine, weak, immune, fight, recover
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1. A terrible disease killed many sheep and cows in

Paris.

2. Louis Pasteur looked into the matter and found

something interesting.

3. The animals never caught the terrible disease.

4. Pasteur had found a vaccine against the disease.
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og

. We get injections not to be sick.

. One painful moment keeps us from getting many
diseases.

. Scientists may be able to develop vaccines for
many other diseases.

. Thanks to vaccines, people live longer, healthier

lives.
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Spring Is Here

220 QUIZ 64%
1 ot} 2 9z

ol A QUIZ 65%

1 hibernates 2 assimilated

| Reading 01

1.¢c 2.c 3.c
4. celebrated, February, weather, hibernation, shadow,

Candlemas, German

Groundhog Day
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| Reading 02
1. new hope and new life 2.a 3.b

4. life, ate, gifts, Easter, March, graves, festivals
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1. “For ancient peoples, spring was a time of new hope

and new life."0ilA] & 4= QAT
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Reading Closer

A Across @ severe @ destroy @ hardship @ contain

Down ® belief ® reach @ differ ® predict
® ancient © method

1. assimilated 2. hardship 3. celebrate 4. retreat

5. indicate

® prevent — predict
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Reading 01 30-31%
1. Eol5tCt 2. o|=3tct 3. XI&sict
4. SHolLt 5. 22Xt 6. =at7| sict
7. 52 2371t 8. 4 9. M5
10. LIEFLYCE 11. 255t 12. 48, Mg
13. HZ01, O|F 14, HEHSICH 15. (§g) mct
16. 2Ct

1. Groundhog Day is a well-known holiday in North
America.

2. In the winter, a groundhog hibernates like a bear.

3. It will retreat into its hole and wait for spring.

4. The settlers later adopted the groundhog as their
weather predictor.

1. 0|2 D=t FHLICIO M 28 220] 7

2. 0| HMOf| M2t AE2 F2 AS0| O 22 K&

% I

T

sic},

[

QK| Mgt 50| 2 = AU

=2

i
ro

Ch

- Answers

CREMOZ AN UV|E S ISRES I =S O T

Of2HOIA Al 22 S=0I.

COERRES 0= 28 20 ASEM THOLE 2 R 2

2H2Cha Bir.

. 2ok Mt tESHE, JetRES = ARe J-HAE 2
Z-

2P EMTE SE[E A2 J-AE 2 5 gl 22 &

o2 otmM2|7t AFEE0| 2€ 20f| stsS B M7t S

2|0 J|W3C}, 20| 777t0] & Z0|ChH

. Ol2{3H M| 0| & W2 RE 2 BE 2l 4=H(Candlemas)
I_

Ol A 2t=H, Of Mt HA| 2¢ 220|Tt.

o2t AE2 18M710l S O|F2USS So OFH| 2|7+ T

§0= MRt

Reading 02 32-33%
R o] 2.0 AA 3. =t
LHE 5. &gt 6. ZLetSICt
A 8. STt 9. L
S0tk 11. et 12. OJAl
M 14. EA|sict 15. 37t9]
.2

. People around the world have always celebrated

the coming of spring.

. For ancient peoples, spring was a time of new hope

and new life.

. People decorate eggs and eat them on Easter Day.

. After that day, the days become longer than the

nights.
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1.b 2.a
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| Reading 02
1.b 2.¢c 3.b

4. Elevators, fuel, space, station, hold, require, cost
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Reading Closer

A Across @ operate @ patent ® countless
@ multiple ® freight
Down @ convey ® equip @ reality
enemy © raise
B 1. confidence 2. primitive 3. transparent
4. inefficient 5. countless
C reality, inefficient, future, concept, fuel
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Reading 01 34-35%
A 1. EHst 2. HA|HOI 3. &Sotct
4. SH|HIF 5. &% 6. DALSIC
7. 501 S2ICt 8. 27| 9. 2SIt
10. 11. 2EI5ICt 12. YB3t
13. 315 14. ZHIE #0015, B7ISHCE
16. XHdlZ
B 1. It seems elevators are all around us.
2. They were used to lift heavy objects like big blocks
of stone.
3. Primitive elevators were in use as early as the 3rd
century BC.
4. Electric elevators came into use several decades
later.
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B . One company in Japan announced plans to make
a space elevator by 2050.
. Many people don't realize how inefficient rocket
travel is.
3. Rockets may not be the best way to get into space.
. People travel up and down between them on a
cable.
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Reading Closer

Across @ register @ stranger @ appeal @ survey

Down ® practice ® escape @ release share

© inspire © fantasy
1. register 2. require 3. escape 4. practice 5. inspire

© finished to read — finished reading
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9k WORKBOOK

1. O{to| 2.2 80 3. Al AS

4. S|SICE 5. = A 6. =5t

7. g4ttt 8. SEoILt 9. XC}

1 12. SSH|, X[H Atz

13. 0|22 15. 019}

16. L5tCt

1. You can leave books somewhere.

. They may be picked up and read by others.

. It is simple to join this network.

.Members can search the website for books

released in their area.
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Reading 02 40-41%
A 1. ZA 2. W3t 3. A4
4. 34 5. HASIC} 6. OIS S MEFCH
7. 448 B0 8. SEQUE 9. @zs =0t
10. A3} 11, AAb 12. s{2kstct
13. ESICt 14. €& 15. ¢104

6. HEIX|0ME O LO|E Lo = AL

16. AEZ AT} B2

1. Some people think that teens don’t read at all these
days.

2. Novels, especially fantasies, are popular among
teens around the world.

into dozens of

3. They have been translated

languages.

4.1 don't feel like reading newspapers or magazines.
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1 Customs 2 occupations
| Reading 01
1.b 2.c 3.d

4. naming, basket, family, bin, bint, syllable, given
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| Reading 02

1.a 2.b 3.d

4. live, occupation, father, personal
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Reading Closer

A Across @ common @ custom ® neighbor

@ official ® unique

Down ® tricky @ record ® sibling @ occupation
@© village
B 1. consist 2. occupation 3. vary 4. siblings 5. refer
C @ the same — a different
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A 125 2. 25t 3. ZAIKO|
4. 98 5. Mgt 6.2 22C}
7. 55¢% S8t 8. 80 9. AAI5ICH
10. 52 11. SH|XtoH 12. &st
13. o}t 14, Ht72L] 15, --0f| 2H35404
16. CHAof
B . Customs for naming babies vary across cultures.

1
2. A basket is a cradle for holding a baby.
3. Many Malays don’t have family names.
4.In Korea, most people have a given name
composed of two syllables.
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Reading 02 44-45%
1. 012 2.0|2 3.(0|52) 4
4,917 5712 6. B, TEtst
7. 7Pgsitt 8. M= 9. =7t
10. ~Zo= 1. 2 12. £%

13. 721Xl 14. F= ottt 15. DHEC}
16. MEH

Suppose there were six Johns in the village.
Some people created surnames based on where

they lived.

. Others created surnames based on their occupations.

.Many surnames were taken from personal

characteristics.

CBM ZVIK| /2 EEL AE2 A2 s& 020
UL,
CHS 0IRS 210 AAL, M2 79 HQ AL,
JeLf QIF7F SO{LEL OFS0] AHXIHEAM 7|5 227t 01
AR

AN
BHo} Bt AJZI0| S W0l AT QICHR ‘Easter 7t 2t

=

‘Baker'2} 2&iCt.

. OIT AYZI0| 204 Di2I8 X UCHE ‘Brown’0] 2 40|

S| UL,

. ‘Bright'Lt ‘Smart’= 74212| £40i| 7|=5t o|Ct.



Feel Better Soon!
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1 painkiller 2 claim

| Reading 01

1.d 2.c 3.b

4. painkiller, willow, salicin, stomachs, heart
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| Reading 02

1. (1) c(@2)b(c)a 2. b
3. prescrbing placebos 4. same, real, better, Trust,

endorphins, ethical
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Reading Closer

Across @ discover @ prescribe @ deceive

@ familiar ® relieve

Down ® compare @ ethical ® claim @ History
effective

1. prescribed 2. demonstrate 3. successfully

4. relieve 5. experiment

experiment, pain, medicine, placebo, endorphins
[BiA] ol Lh & A&l Zoi3ict O A7 5 st A2 ot
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Reading 01 46-47%
A 1. ZEH 2. FA} 3. LR

4. HELIZ 5. &t5ixt 6. YHsiCt

7. 88, 94 8. 2oixrt 9. 85t 23

10. 282 1. Teh At 12, 24

13. 24 14. 2 AS2| 27t

15. Az 16. -2 1ES it

24

1. Aspirin has been an important painkiller since
ancient times.

2. People thought there would be no more pain for
human beings.

3. Salicin from willow plants was tough on stomachs.

4. The invention of aspirin soon led to its worldwide
spread in the 1920s.
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Reading 02 48-49%

A
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H| w&tCH 8. ZALX 9. 813
Q=sict 11. MYt 12. 221Xl

AsiCt 14. &0|Ct 15. ZO}fX|C}
--QF ZtA| 7} QUCt

. How do we know whether a new drug is effective?

. Some researchers believe that the effect comes

from the mind.

3. Doctors have used placebos for ages.

. They claim that doctors deceive the patients.

Of & BEOREE| Li2 A7} AIof0] ZI7} ULEX

N
o
on
=
=n

| EICY,

o

Az

2

1/32] A S0| £ W20l 0| LIRATt, 0f

rnr mfp we  Hon

I
0o
2
fol
=)
d

o =2

N ©
Al o
(
o5
ST
ny =
Hi
O
=]
>
i
I
r
n
rir
]
o
o

=
Hi
10

I
re
°
0%
10
10
>
fujn
rlo
]
i
10
riok
A
U
N
40
S
=
m

rMo m
i[’s
o
O
njo
bl
N
fikal
[0

I:I|_|EI. ZF

]
o
T
o
I
>
o
[
rlo
p0
oo
12
mjo
S
rr
10
_>,:
mjn
=2
o
=]
.{

ZH7t Slotal o ZIE



Animated Movies
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1 still 2 opportunity

| Reading 01

1.¢c 2.b 3.a,c

4. animated, still, photographed, model, animators
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| Reading 02

1.a 2.c
4. October, 26, Fantastic, Planet
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Reading Closer

A Across @ promise @ lifelike @ offer @ create
® still ® ashamed
Down @ passion @ celebrate ® necessary
© separate

B 1.still 2. necessary 3. penniless 4. raise
5. ashamed

C © to make the witch to move — to make the witch move
[GHA] X|213t Bl4= HFE OHLM0|ME ~¥5 E0 UL 1
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Reading 01 50-51%

A 1.2%= 2. 88 3. M35t
4. "Xt 5. A&E ot TH 6. AIZI=S BIC}
7. x5t 8. M= &2 9. otst Fst H|IZAt
10. st 1. &0t 12. 8%
13. THRHCt 14, ALEHQI 15. J30= =75t
16. @sh SEE

B 1. The animated cartoon first appeared in the early

20th century.
2. Every year animated cartoons are big hits around

the world.

26 - Answers

Reading 02

A

3. The still images are shown at a very fast rate in a
sequence.

4. A special camera is used to photograph the results.
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N

2.7|84 3. 713
6. X35t

9. o45iCt
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14. -2 W3l 15, RES| PHLICH

12. 22|5ICt

1. Four different cartoons are going to be shown on
the same day.

2. Don'’t miss this opportunity if you are a cartoon lover.

3. Calcifer promises to help her break the curse.

4. She tells them magical stories of the imprisoned
Djinn Fairy.
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Care for Your Nose

HROEE QUIZ 112%

1 ¥O= XHH 2

]
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ol XNt QUIZ 13%

2 Humidity

| Reading 01

1. b 2.c 3.d
4. snores, side, tennis, ball, vibrations, tissues, nose,

nasal, strip
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| Reading 02

1.a 2.d 3.(MF@TET

4. filter, traps, breathe, humidity, colds
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=5 o £L.

Reading Closer

Across @ tissue @ maintain @ snore @ painful

® wonder

Down ® average @ attach ® nasal @ comfort
breathe

1. attach 2. prevent 3. asleep 4. vibration 5. clip

© mouth — nose
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Reading 01
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54-55%

1.
4.
7.
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1. How do | keep my roommate from snoring?
2. Snoring is caused by vibrations in the tissues of his

throat.

- Answers

3. A nasal strip will help him learn to breathe this way.

4. Then he will stop breathing through his mouth.

. M EMOIE Jake= 2 TIFL0|X|T, OX| LEHIO|XH
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Reading 02 56-57%
A 1. 33dlotCt 2. 0s= 714 3. 04t FX|

4. 39| 5. B9l 6. M=

7.4 8. =48 9.8

10. 389 1. 34 12. 44

13. ZHAR 14, (E3) M20 156 7IFH

16. S X[otCt
B 1. Have you ever wondered why we have nose hair?

2. It plays an important role in keeping us healthy.
3. Nose hair works as a filter for our nasal passages.
4. Humidity is important for your respiratory system.
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Time to Bake
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dough 2 multiplies

Reading 01

3STE@FE@T

4. monk, reward, brachiola, prayer, Mayflower
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| Reading 02
3.d

4. bread, organism, moist, carbon, dioxide, Kneading,

dough, bubbles
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Reading Closer

A Across @ form @ billion @ loop @ develop

Down ® dough ® multiply @ strip ® knead

© reward contain

B 1. thoughout 2. distribute 3. reward 4. multiply

5. ingredient

C ingredients, yeast, dough, knots, folded

[3HA] X|4Z=01l, KevinZt Daniel2 Z3|&g BHSULCY,

=
Lt B3 X|ths A2 £ 71X €3 off ECf AW, 0|AE7

BEo| DE R0 HXES of £O. SH, 8 $0) 7|27}
EEEPE

A2 9 WORKBOOK
Reading 01
A 1. UJIR HEE 2. 5E&t 3. Mg
4. 112 5. HELC}t 6. Zt=rCi2t =zt
7. SESict 8. =T A 9. BE0]
10. ™Ct 11. 7|=5k= AR 12, 24
13. O350} 14, N& 15. 8

16. X2

B 1. ltis atype of baked food made from long rolls of dough.
2. How did the first pretzel come into being?

3. One day he had some dough left over after making

bread.

4. He used the pretzels as treats for kids who learned

their prayers.
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Reading 02 60-61%
A 1.1E &2 2. YIIE 3. AE0| ¥2
4. 0|AE BEO 6. 5Z0|
7. THH|Z O 8. 7|, O|ME 9.30|H
10. A B2ttt 1. &4 12. O| A3}t
13. 20{Q2Ct 14, FREC} 15. LI=0f Lt
16. 12

B 1. The bread dough rises because of the yeast in it.
2. One gram of yeast contains 20 billion yeast cells!
3. It multiplies rapidly when it eats sugar in a moist
environment.

4. Why does your mother knead the bread dough?
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A Crystal Heart

HROEE QUIZ 128%

ofgl XA QUIZ 120%

1 nearby 2 surface

Reading 01

1.(MMTER)TEF 2.b BNG

4. (sample) The princess fell in love with the fisherman
at first sight. The fisherman loved the princess,
too. He sang more beautiful songs to her, and she
was very happy. The king married his daughter
to the fisherman. They lived happily ever after. /
The princess was disappointed by the fisherman’s
appearance. However, she wanted to hear his song
again. She asked him to sing all day. Every day
he had to sing to her. One day, he didn’t appear.
The princess sent her maid to his house. The maid
found him dead. He had been so exhausted from

singing that he had died.
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| Reading 02
1@ 2.b 3.b

4. handsome, fisherman, love, crystal, teacup, song,

cruelty
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1.

Al
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@, ®, @= $H(the crystal)=
tH(boat)E 7t2|7ICt.
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Reading Closer

Across @ burst @ wound ®@ pale @ return

® cruelty

Down @ beloved ® surface @ fling ® nearby

© fisherman
1. fling 2. surface 3. embroider 4. cruelty 5. hardly

palace, villager, love, humble, princess
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Al Sk WORKBOOK

Reading 01-02

62-64%

A
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6. 4ME Yoltt

7. SOM7ICt 8. 0% 9. 3%
10. S 2= 11. LYEX|C} 12. A
13. 47! 14. 201 15. T
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N

. She heard a song from a fishing boat in the river.
. We brought a fisherman from a nearby village.

. On his chest sat a large crystal.

A OWN

. Her room filled with his sweet song.
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